Hillside Washer

Flat Washer Cable Frame

Hex Nut

/Web of Frame

Cable Brace to Frame Detail

Coupling Rod Brace
Rod Brace \

Rod Brace with Coupling Detail

Hillside Washer

Flat Washer
Rod Brace
Hex Nut

/Web of Frame

Rod Brace to Frame Detail

DRAWING NO.

Cable or Rod Brace to Frame Connection SD66




Cable ?rocing—\\ s

N

Main Frame —{

L

Column

Eave Strut —\

—

Eave Strut

((B”

/

>
~

Detail “A”

Sidewall End Bay Elevation

=%

Cable BrocingM
Endwall Rofterf

Endwall Column

(Shape Vories)\

Roof Bracing
Slot

Steel _

Section

L— Endwall Column

(Shape Varies)

Cable Brace
Anchor

Sidewall
Bracing Slot

T4

lo

Coldform
Endwall Rafter

_\r

HB” _

\Endwoll Column
(Shape Varies)

—

By—Pass Sidewall

Cable
Bracing Z

M

Eave Height

Cable Broce; -

Detail "A”

Anchor

Steel

Sidewall

Bracing Slot

Roof Bracing
Slot

[HIR3

e

Section

lo

Coldform
Endwall Rafter

\ Endwall Column

_\r

HB” _

—

(Shape Varies)

Flush Sidewall

Created On: 09/29/14

End Bay Bracing

DRAWING NO.

SDo6/




E.W. Column \

Eye Bolt

Hillside
Washer

Flat
Washer

Brace Clip
(CL-203)

Hex Nut ‘ Anchor Bolts

Cable Frame (Shown)
Rod Brace (Sim.)

Cable or Rod Brace to Endwall Column

DRAWING NO.

5063




——— 5/8"9 A325 Bolts
(See Endwall Elevation
For Quantity & Length)

i Wind Bent or
i Wind Column
iMoin Frame Column

Wind Column \ Wind Bent \

= =l
| | [ | ]
= 1=

5-0" (Max)
Evenly Spaced
5-0" (Max)

Evenly Spaced

2”
2”

\ Main Frame Column —/

Wind Column/Wind Frame Detail

DRAWING NO.

5070




Brace Angle (JB-_)

(L2X2X14 Ga)

at Jamb to Eave Strut
Locations Only

(2) 10x1” Pancake
Head Screws

e |

/ Eave Strut

(2) Member Screws (Plain)
Eave Strut Brace Section
1/2"

Eave Strut ‘\

-— -~

Eave Strut Clip

Door Header \

-~

Door Height

Eave Sirut Brace Detail

—

. Purlin

Brace Angle (JB-_)

Door Width \
Door Jamb or Sub Jamb

(2) Member Screws (Plain)

Framed Opening Jamb Brace Angle Detail

Created On: 11/5/10

DRAWING NO

5099




Brace Angle (JB-_)

(L2X2X14 Ga)

at Jamb to Eave Strut
Locations Only

(2) 10x1” Pancake
Head Screws

?
Eave Strut \

Purlin
-

(2) Member Screws (Plain)
Eave Strut Brace Section

1/2"

Eave Strut ‘\

-~ -~

Eave Strut Clip

Door Header \

s

(2) Member Screws (Plain)

Brace Angle (JB-_)

Door Width \
- Door Jamb or Sub Jamb

A
¥

Eave Strut Brace Detail

Door Height

—l}

Framed Opening Jamb Brace Angle Detail | ™

at High Side SD100

Created On: 11/5/10




Note: No more than (4) purlin spaces before criss—cross. QPGGk

g T

Strapping
Installation for more than (6) Purlins

of Purlins

— 17
T

Installation for (6) or less Purlins

Roof Uplift Strap Installation
(Refer to Roof Plan for Locations)

Note: 1) Attach straps w/#10-16 x 1" pancake self driller
2) No criss—cross straps in walls.

e Rake Angle { £

Girt Girt

Endwall

Wall Suction Strap Installation
(Refer to Wall Elevations for Location)

Top & Bottom

T <

(RF1) at purlins or girts.

ave Strut

/— Strapping (Typ.)

(11/2" X .019)

a Base Angle a Base Angle

Sidewall

Roof Uplift and Wall Suction Strap D

DRAWING NO

etails SD1 02

Created On: 9/28/12




Roof Purlin

9 *Bracing Cl
3 racing Ip
Bracing Zee (BRZ-1) " (See Table) N\
#2 x 1" SDS
#2 x 1" SDS
| —T

S s #12 x 17 DS (TYP.)
*Bracing Clip o
(See Table) L)
Roof Purlin Peak Purlin
"(‘Brocing Cl)ip
) See Table
#12 x 17 SDS (TYP) Bracing Zee (BRZ-1)
\
~ /
\
12 x 17°SDS S| #12 x 1" DS
g
\
N

N

*Bracing Clip

(See Table)
Peak Purlin
PURLIN DEPTH | BRACING CLIP | Note: Bracing Clip locator buttons
8" BRC—7 | are to be placed in holes pre—drilled
10 BRC-9 in purlins.
12 BRC-11
DRAWING NO.

Intermediate Purlin Bridging SD105

Revised On : 01/05/18




(See Table
<2 x 1" SDS (TYP.) Bracing Zee (BRZ-1) 9

Roof Purlin
Bracing Cli
Bracing Zee (BRZ-1)

(See TobIeS) \
# /X \ — \ ”
\ F\, 12 x 1

#2 x 1" SDS
—#2 x 17 SDS
7|

Bracing Cli
(See TobleS)

Eave Strut

pnb3

\

SDS (TXYP.)
a

L=\
A

Eave Strut
Bracing CIIS)

no3

D

|

—_

/' i
#2 x 1" SDS<
2 x 1" SDS

|

\Oﬂb}

# Install temporary #12x1 S.D.S. from inside out
Bracing Cli

to hold clip in place.
#2 Install (2) #10x1 flat head driller from outside in
Roof Purlin(See TObleS) Remove the temporary S.D.S. installed earlier.
PURLIN DEPTH | BRACING CLIP | Note: Bracing Clip locator buttons
8 BRC—7 are to be placed in holes pre—drilled
10" BRC-9 in purlins. These locators are not
12" BRC—11 to be used on the eave strut webs.
DRAWING NO.
Eave Bridging
Revised On : 01/05/18

SD106




R Fave Strut

) /\“B’ /_
Building Column \_Wind Bent
((C” .
* | / Fin. Flr. |
Detail A" Sy Spacing

Wind Bent Elevation

Eave Strut\\

/—Building Column

Main Frame
Column

= S
. %VIF}? Bent
I . after
: %\
c\l -n
— i Wind Bent
= - Column
HD
i N
See Erection Drawings Section B
(See Sidewall Elevation ~
For Quantity & Length)
N
: ] Wind Bent
Main Frame BN \ Column _ Wind Bent
Column S sl AColumn
. ] ]
% . X Main Frame 7%
®l % ® Column
> || KL% N steel Line
See Anchor Bay | Bay
Detail “A” Rod Plan —
Section C
DRAWING NO.

Flush Wind Bent (Floating)

Created On: 5/25/12
Revised On: 7/21/14

50130




)“B;\ /—Eove Strut |
Building Column \—Wind Bent /—Building Column
* ((017 .
s Fin. Flr. |
4t Bay Spacing |
Detail “A , : Main Frame
Wind Bent Elevation Vcommn
See Erection Drawings —J| °ye “
bave Strut—\ (See Sidewall Elevation | [2]° \‘
[ 1 For Quantity & Length) \—Wind Bent 1IE
Bracket Sfv
MM o 1
5 D::D D::D . te )
See Frection Drawings—"| 3/ Uiy e Section B
(See Sidewall Elevation Ll Main Frame
For Quantity & Length) Rind Column
Bracket \; ”
. A325 Bolts 5% pnchor
s, ’| /7_Rd
g (Typ.) - ods
T 1L
=| Main Frame — B : .
L] Column > [ +—
X LWind Bent %
> Column
o x| | %
\—Steel Line
Bay | Bay
et See Anchor | _Section “C”
8 |x|x Rod Plan
Wind Bent at Main Frame
Detail “A”
DRAWING NO.

Created On: 5/25/12
Revised On: 7/21/14

Flush Wind Bent

SD151




(2) #12 x 11/2"

TEK 5 Screws CL-85

\

CL—-85 %G

. JUiE Flange Braces Attached at
Vapor Barrier to be Locations Designated on
Placed Between Clip Rigid Frame Cross Sections.

and Girt /Purlin

+Clip Table
8" Girt/Purlin | CL-86
10" Girt /Purlin | CL-87
12" Girt /Purlin | CL-88

ﬁ‘/ Purlin /Girt

1/2°0 x 1 1/4" A307 Bolt (Typ.) —=f

x Clip (Determined by Girt/Purlin _

Depth; see Chart) H Vapor Barrier to be
— Placed Between Clip
—/_Q:s and Girt /Purlin

Clip CL-85 to be Fastened —
to the Bottom of the Purlin
in Alignment with the Upper
Clip and Attached w/(2)

#2 x 11/2" TEK 5 Screws.

Section "A”

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO.
Interior Girt/Purlin Flange Brace Attachment for Insulation SD1 61

Revised On : 01/04/18
Created On: 8/26/11




(4) #2 x 1 1/2"
TEK 5 Screws

CL-85

CL—85

/<nge Braces Attached at

Vapor Barrier to be
Placed Between Clip
and Girt/Purlin

Clip CL-85 to be Fastened
to the Bottom of the Purlin
and Attached w/(4)

#2 x11/2" TEK 5 Screws.

Locations Designated on
Rigid Frame Cross Sections.

ﬁ/ Purlin /Girt

Vapor Barrier to be

Placed Between Clip

-\[ and Girt /Purlin

1/2°6 x 1 1/4” A307 Bolt (Typ.)

Section "A”

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

DRAWING NO.

Interior Girt/Purlin Flange Brace Attachment for Insulation

Revised On : 01/14/24
Created On: 8/26/11

5D162




i\

Flange Braces Attached at

Vapor Barrier to be Locations Designated on
Slit for clip at Rigid Frame Cross Sections.
Girt /Purlin
+Clip Table
EVEEgT%Etglﬁggzliner panels 8 Girt/purln | CL=22
precut slits in liner panel 10,, G{rt/Purl!n CL-24
before hanging overhead. 12" Girt/Purlin | CL-34

ﬁ‘/ Purlin /Girt

1/2°¢ x 1 1/4” A307 Bolt (Typ.) — [

* Clip (Determined by Girt /Purlin 7
Depth; see Chart) A

Vapor Barrier to be
~ \[ Siit for Clip

il B

Section "A”

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO.
Interior Girt/Purlin Flange Brace Attachment for Insulation SD1 63

Revised On : 02/08/24
Created On: 8/26/11




FIELD SLOT GIRT(S) FOR

3" THE ”X” BRACING.
MAX \
N\ // — é \
>
A ) — C_
o
N o~ \
DETAIL "A” \
DIMENSION 1
DIMENSION 2

FIELD SLOT GIRT(S) FOR
THE "X" BRACING.

>

CABLE OR ROD

NOTE: FIELD SLOT THE GIRT USING THE CORRESPONDING DIMENSIONS AS SHOWN ON THE
"FIELD WORK TABLE" ON THE WALL ELEVATION.

DRAWING NO.

5D202

Field Work Slotting for Bracing

Created On: 03/07/20




	SD66
	SD67
	SD68
	SD70
	SD99
	SD100
	SD102
	SD105
	SD106
	SD150
	SD151
	SD161
	SD162
	SD163
	SD202

